11
<4 3 x 52

@ n

11
8

@1.415

63
22x3x7

®




)

gl

)
oL

— | D~




24
45

18
24

@

11
15

®

15
35

3
40

©)




21

v V.V
0
m

0
i

42

B ~
a o a a _ a
30 2x3x5°28 22x7
RE {3447 = H
B 205712 = 53 o]ofof st 2 g &= 21 9] Hjg=o]ofof
St




=5 o AR v ), A ofef 99 WA o] AT

8
55

&7 ofef 99WA AHeje] Szt 15

=0.14545--- = 0.145

UY




349 8.603 & B4 2 YERYH?

8603 8595 191 955
O — @O — @5 @m

8595
909

8603 -8 8595 955
999 999 111




7.  x=3.102< 1, 1000x — 100x 2] FF-S Fotola},
=i

>
> ®ehl 2792

10002 F5}4A 1000x = 3102.222 - - -
1002 &5HH 100x = 310.222- - -
1000x — 100x = 2792 |t}




@D 0.1 ® 0.01 ®)0.01 @ 0.i1 ® 0.001

o.iézgzixu:o.()ixm
99 99




4 5 _
9. H=3FIA 9S¥<g < WEohe x 9 ghE BF =etet

® 04 @)0.45  ®)o5 @0.54 ® 0.56




10. 02x+05=1 < o, x o] S F5}odzt.
» cf:

> He x=2

B

0.2x+05=1
2 5
§x+§—1
2

2. _4
9" 9

)




11.

o <E7]> oA fetasrt B g BE 12H?

27]
Q@ 3.65 © 0.38888
® 0.325 ® g
@ 1.010010001 - - @ g
ORON® CRONE ®)0,©, ®
CEONC) ONGNCNG)

257 of#2] 00] obd A7}

SRS 2golm 2




o =
=) X

(a, b= A%, a £ 0) 0|3 x FFA4%7} ot o

X =

12.

v
30

@)

@D 1.204




13.

a7]— 1’ 2a 3, 49 57 6’ 79’] %1]\—'% 7]’@ UZH, —E—Zl\— _7]— _[0_'_'5_]-5\_

=% Ste a9 g g7

@ 3 @ 6 ® 8 @)9

~&B

® 16

a a
150  2X 3 x 52
ae 39 Hjspolojop StER g =3, 60|t
L346=9

7t §8as7t =17 e




,a %k

SH
=

f@ast Bkn

-

ull

e 2 7t

5

5 Boloo}

=
—

Brol Aolfr 2 &




® 15 @ 18 ® 21

@ 9

IXT7TXa
2§7x9

2x%3

2la

126

jasi=

5 7t glofors

7b HHH 2| 2=

=

2k

o
T
a

3




® 0.3333---, 33 @ 0.454545---, 45
® 0.252525---, 252 @ 2.417417417---, 174
® 2.145145---, 214

~&B

@3
@ 45
® 25
@ 417
® 145




& e85 Y 9e o <goioL?

@5 @ 27 ® 15 @ 58 (@)185

5+ 27 =0.185185--- , &=%Hatr] 185




18.

O& T «gdago 2ol g2 4

@ 0.345345--- = 0.345

© 21.1515--- = 21.15

© 3.14151415--- = 3.14151
@ 0.1232323--- = 0.123

® 8.2359359--- = 8.2359

iy

o

0x
iy
®

v VvV vV v v Y
0
iy
Q

02
L
@

© 21.1515--- = 21.i5
© 3.14151415--- = 3.1415
ot 22 A2 9, @, @°|th.




ES= - P S
T= T

S8 e

Aol o

234 -4

234 =
@ 0.23 9000

A

29

..o 1234 -12
1234 = ——
@ 990

72
99

. 234-23
0234 = ——
e 900

205 - 20
90

D0.72=—

3 2.05 =

1.234 =
© 1.23 990
456

456 =
® 0.456 = T

1234 - 12




7 131 34
. 1.32 = =— A==
o 1(1)3 D 929211 o
0.30 = = 2354 ="
@ ® 990
.7
@0.7=—
131
132 =—"2—
@ 99
34-3 31
34=""""=
® 9 9
12 4 2
@039_30 - :
. 2354-235 2119
® 2.354 = G =55




o3 5 24 &2 AL?
.. . .. 178 . ..
® 042<0.4 @ 1.79 = 5 @ 0.6 > 0.60
) . 994
@ 9.9=10 ®)10.04 = —
90
. 1004-100 904
10.04 = =
© 100 90 90




@ 0.352 © 0.352
©® 0.352 @ 0.352
De-0-06-0 ®Ha-0-0-0
@@—)@—)@—)@ @O0 ->0-0

0.352 = 0.3525252 - - -

0.352 < 0.352 = 0.3522222--- < 0.352 = 0.352352---




23.

L% 1510 o8 AR5 oA 1 Anrt A4t Ui o] 2
HESte A o] A4S BE 1297

d

@ 9 @ 18 G5 @9 ® 99

151-15 68 0 g

90 4

AA7E =71 AsiAME 45 9] vl -5 FsfoF qt.
THERA] o] 2 TEshe F AE Q) Ade= 45, 90°]tt

151 =




24. A% a o gstel 12 o] Fjerdoln, v = (909 0.9) x 1O ¢
1la 11la

Zrol A% u, x o] 215:34E Fotolat,

(99.9-0.9) = 100 - 1 = 99
= 99x 1 oA 17} A @S0l B a7} Hejd o), ik A7}
a

Hrt.
x7FHEFE A Ha=9L o, x=16




25.

&8k A2 0.4201 9] 244

4% ofdl 319 Aele] 2248 Fotofat

0.4201 0|22 &hutr] o] S22t 374

31-1=3x100]82 457 ol 31974 29| S21= 1
ol




26.

=84S ~1.231453145 - - 9] =8ty A5 o, 257 oFf 100
Gk Z}ﬂJ 222 p et S, a+ b FHS Floiet

-1.23145°| B2 &3] o] 22} 4 74

100-1 = 4x24+ 30|22 254 ofefl 100 1A 2] 9] £2t=
4o]t}.

La+b=38




1
Mo dlo

o
ZF &84, =023 B

@ 100x — x @ 1000x — x

@ 1000x — 100x ® 1000x — 10x

~&B

2 G @ o, 4
?

3)100x — 10x

1002=23,333-
~) 10z= 2,333
90z=21

wehA] @ 100x — 10x ©| Tt




xoll B QAL x4 19 = 239] B FohT?

@0.3 @003 ©®013 @ 023

® 0.33

q . 23-2 19-1 3 .
=23-19=— - —=-=0.3
X 3 9 9 9 9




24F Uetuoj e,

— |

®0.1+08




30.

T & &R el f@agel, J|opRSE 1AW % ot
a7} = Ze] o] A4 o, a + b 9] FH2?
® 73 @ 75 3)83 @ 89 ® 90
a a 5
L - % J}estadolddd 4 = 9 9 H|$o]ojo
0 = PRaEE } s 12198 a = 9 9 Hj5o]ofof
s, 7]okEe 1AW l_t O|BE ¢ 7 o HjZ:ol}.
et a & 32 x Txn 9 F A o] AA40]BR 63 ot
63 7
— = — O|B =% p =20 0|t}
180 20 ] U=
wakA q + b = 83 o]t




31.

4567
9900

olf, a4 b+ c+d 2 S F5toiet.

> E.

> Mg 14

B

= 0.abed N a, b, c,d =0,1,2, -

4567
9900
a=4,b=6,c=1,d=3
“a+b+c+d=14

=0.4613




32. oW A4l 222 FoloF T AL 222 FskAu A7} 0.271
WAt o, o] A4 Fohu?

@ 8 @9 ® 10 @ 11 ® 12

ol AALE x2t & o 22> 22087
XX22-x%x22=0.2
20 22 2

910" 10
o] 90wt
200x - 198x = 18
2x = 18

Lx=9




33. x = it (ats 100 08kl A & w, x7} A7} b wA

S7b HE a9 39 A4-E Totoler,

A

» =

> ®eh: 10

~&B

—Hi— _714 7} o
% 55 7t 857t ok

27 Bls a = 100 ©J5k9] 9 9]

Hl% % 900] WiS-S A olst Bt
w2tA, 11-1 =10




